Algebra AB Chapter 1 Review

Part I: Vocabulary

1. The sum of two numbers is the answer you get when you add.

Circle all of the sums of 3. List four sets of numbers that
have a sum of 3.
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2. The product of two numbers is the answer you get when you multiply.

Circle all of the products of 10. List four sets of numbers that

have a product of 10.
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3. The Distributive Property states “Multiplying a number by a sum is the same as multiplying the number by each term
in the sum and then adding the results.” An exampleis4 x(50+3)=4x50+4x 3.

Use the distributive property to find the products:

a. 98x5 b. $495x7

5 (90 +€)

S-490 + 5-¢
450 + Yo = qui

4. Two fractions are equivalent fractions when they refer to the same location on the nu

Write an equivalent fraction for % that has a denominator of 20.
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5. For the number 5, give the:
a. reciprocal \ b. opposite ~ 5
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Part Il: Why does it work? What is the shortcut?

Explanation of Work

Problem and Shortcut/Work
In a m‘JH'\Pllcu{'m ?ﬂ)b(eM ’
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find the value of 390 + 786. Give the answer
without adding up the numbers. h\,\. déc{&é l o —7g5‘ T"\C
|l|'l(>l net effect of twis is o,
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8. Use the fact that 391 + 785 = 1176 to help you T SuHrdcké \ ‘FFZW\ 30} '

Part lll: Computation (non-calculator)

9. Find the product 1@%} Show work. 1.3 r 3
) Py 2) 1§ (5 73 ?)
3l + B2 o 3+1o—7|\3( Vg 24l
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10. Find the sum-j-+o! 1%‘:“— ;) Don’t show work! g (%) - @
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11. Perform the indicated operation.
a) -24-15 b) 16 +(-30) c)-5-11
= =55
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12. Circle the larger number.

10 3.9 10
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Part IV: Number Lines
+0. %
13. Give the value of the tick mark with the arrow pointing to it. Vd B
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14. Give the fractional value of the tick mark with the arrow pointing to it.
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15. Give two different numbers that are between 8.9 and 9. They do not need to be evenly spaced.
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16. Point A is marked on the number line. Plot and label the points —A, 24, and e
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A note about the test...

In this class we want you to learn how to look, notice, and make connections. Being
able to do the problems on this review worksheet will certainly help you prepare for
the test as some of the test problems will be very similar to these. Other problems
will use the same thinking skills but may look unfamiliar. Do not worry — you have
been working on making connections and should be able to figure them out ©.
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